Geometry H Name: \(63

Section 3.1 — 3.3 Quiz Review Date: Period:

You should be able to...
v’ Identify parallel, perpendicular and skew lines. Identify parallel and perpendicular planes.
(Section 3.1)
v Identify corresponding angles, alternate interior angles, consecutive interior angles, and
alternate exterior angles. (Section 3.1)
v" Find measure of angles formed by parallel lines intersected by a transversal (Corresponding
Angles Postulate, Alternate Interior Angles Theorem, Alternate Exterior Angles Theorem,
Consecutive Interior Angles Theorem). : (Section 3.2)
v Prove lines are parallel (Corresponding Angles Converse, Alternate Interior Angles Converse,
Alternate Exterior Angles Converse, Consecutive Interior Angles Converse) (Section 3.3)

Practice Problems

1. Two lines that are not coplanar and do not intersect are called

a. Parallel b. Perpendicular @ Skew d. None of the above

Use the diagram of the cube to the right for questions #2 — 4 below.

2. AD and HG are

a. Parallellines b. Perpendicular Lines @Skew Lines d. None

3. BCand ﬁ are

a. Parallel lines @Perpendicmar Lines c. Skew Lines d. None

4. FE and GC are

(a./‘; Parallel lines  b. Perpendicular Lines ¢. Skew Lines d. None



5. Inthe figure below, <1 and 22 are

Alternate exterior angles ¢. Consecutive interior angles
b. Alternate interior angles d. Corresponding angles

Use the following figure to answer questions 18 — 19.

6. In the figure above, £6 and «3 are

a. Alternate exterior angles c. Corresponding angles
@ Consecutive interior angles d. Alternate interior angles

7. Inthe figure above, 46 and «2 are

a. Alternate interior angles c. Alternate exterior angles
b. Consecutive interior angles @ Corresponding angles
8. Using the diagram below, name FOUR pairs of perpendicular lines in the f G
figure. 8 [ -
« @ e 22 e |
O m,oc @ Ae, e :
R L
© & > &3 .
@, Do A0 s P
A [1]
9. Find m« 1 in the figure below given that (P_Q) I RS. 3
105 /75’
a
b. 75° i
c. 115°
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d. 15° / 1

16=180  (Lincav pav postviaic)
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10. In the figure below, | || n and r is a transversal. Which of the following is not necessarily true?

m« CBE = 80°

mz DEF = 80°

@ «DEB and «CBE are corresponding angles
ﬁ. «CBE and «GEB are alternate interior angles

12. Use the figure to find the measure of £ 3.

@ 124°

b. 56°
c. 79°
d. 146°

13. Please find the values of x and y. Justify each step using the appropriate
theorem/postulate.

"
hy+Uxidy:- 10 4x+3y: 12X+y 5V°A4"+3V}° .
> Hxtgy- (60 5-gx+2y: 0

(12x+y)°
>—b
Cystem . ( ux+8y- [0 4x+ 8y~ |80 /

~L;(-S'xﬂyzo) ? x4 3'-_0

30x =160

Xz5
4(s) +$y= %0
20+g3:\30

¢y=100 2{Y=20 l



14. Given m || n, please find the values of x and y. Justify each step using the appropriate
theorem/postulate.

e uox-1y- -19)
b=1y-4 (verhual angus thm) Svstcm."%‘“ -
e & - bx+‘{9-lf<0|) —

5 \ox-1y=-16 —

; > ok~ 42y - /(7Y %
1y-4 ”0**29:\8,0 -6k -A0y4 = -1g40 - (6x + 2y)°

- bX*‘\\j"’\” | “132Y: ~1480 /

416

A

3y

a ¥

tox-1(16)=-16
lox-105° 1% 7
15. Given the diagram below, please solve for x and y. 0% =ao j B
2X+343y+9+3x-10 =\80 St 85“;1:131 5 Ex+Ay-1¢2
b +3y -a = 180 - [Bxedy=158) -3x- y=-1¢
- Sxt3y= ¥ 2R 4
‘ma |
(33 = 3%-10+3Y +5
133 = 3)(‘!'5\' -6 5(3&)‘\'%9:‘6?
{28 bb 3y <139
'gfl‘l J
16. Please find the value of x that will make « || b. Please justify your reasoning.
X"+47=12x 416 Tl
X'-12% +41-16=0 x4 (u)eure 0 (x‘+47]‘/ .
x-12x + 3220 () +15 7 63’ g
(x-9)(x-8)-0 P U7 ik 8 R LN .52 L) -
[ b
‘x:.*, X:g] (@) t15 = m /
by wrresponding
0 angus Lon\erse
both Soiutions

WOovY
17. Using the figure below, which theorem guarantees / and m are parallel?

a. Alternate Interior Angles Converse
b. Consecutive Interior Angles Converse
c. Corresponding Angles Converse

@ Alternate Exterior Angles Converse €




18. Find the value of x that will allow you to prove that CD I EFifmz1= (3x+30)°and mes2=81°

State which theorem or postulate you used for each step.

3430 +81 = 180 (Lneaw paw postuiate) \
2%+ 11)= 160 (wmbine \ive hrms) < c‘ , ;
0
-6 (subracnon propery) 3X+3 R

3x+30 & ev o

(dwitwn property) I \-2=le A

Use the following given angle measures to decide whether lines a and b are parallel. Explain.

19. mz23=96°, mz5=84°
No, the ines ave not parallel becavit

<3 Wwoold have to be congruent 1o < 5

o
by ne alt mteror angled wnverse

20. mz5=79°, m24=79°
No, the \nes woutd NoT be paraliel because

5
(5 + 44 =\§0 n order for the ines 10 be paraliel

[

19

by the conste, Werior angles (onuerde
21. mz2=81°, m«£6=81°
§1° Yes, the \nes ave paraile) since <1940,
Becaue <246 Yy Corresponding ongles
converfe, wen aflb.

"
True or False:

22. If two parallel lines are intersected by a transversal, then alternate exterior angles have

measures of 90 degrees.  False, - alt.ext angics must have congruent meagures

23. If two parallel lines are intersected by a transversal, then consecutive interior angles are
supplementary. True,

24. If two lines are intersected by a transversal and alternate interior angles are equal in measure,
then the lines are parallel. e,

25. If two lines are intersected by a transversal and corresponding angles are supplementary, then

the lines are parallel.  ¢41¢e- mrvewondmg OW\QUQ pug b nave U.)ngmcm weaswes



Answer Key :

cv
cv
BV
AvV
AV
BV
DV
Sample answer:(A_B’andﬁ,ﬁandﬁ,ﬁandﬁ,ﬁandﬁﬁ/
AV

.DV
cv
Y34
.x=5,y=20 \/
Sample answer : 4x+3y =12x+ y Corresponding Angles Postulate
S5y+4x+3y =180 Linear Pair Postulate

Lo] jool S=in (G (Ui g (G (1S [hs

[ O
W N R O

14. x=9,y =15 \/
Sample answer: 10x+6 =7y —9 Vertical Angles Theorem
7y—9+6x+2y =180 Consecutive Interior Angles Theorem
15. x=22,y=24/
16. x=4 or x = 8, Corresponding Angles Converse \/

17.0V

18. The angle next to £1 is also 81° because of corresponding angles.

21+ 81 = 180 because they make a linear pair (are supplementary)

3x+ 30+ 81 = 180 by substitution
x=23V/
19. Line a and line b are not parallel. v/

In order to be parallel, 23 = £5 by the alternate interior angles converse
20. Line a and line b are not parallel. /

In order to be parallel, m£4 + m5 = 180 by the consecutive interior angles converse

21. Line a and line b are parallel because £2 = 6 by the corresponding angles converse /

22. False — Alternate exterior angles have to have the same measure v
23. True — By the consecutive interior angles converse v/

24. True — By the alternate interior angles converse .,

25. False — Corresponding angles must have the same measure /



